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MULTIPLE CHOICE QUESTIONS

1- In the base year :

a) real GDP will be greater than nominal GDP

b) nominal GDP will be greater than real GDP

c) real GDP will be the same as nominal GDP   

d) both real and nominal GDP will equal zero

2- If nominal GDP in 1995 was $4,200 billion, and real GDP is $4000, then

a) GDP price deflator or the price level index is 105

b) GDP price deflator is 200

c) GDP price deflator is 320

d) GDP price deflator is 120

3- If Nominal GDP rose by 5% from 1994 to 1995, and real GDP rose by only 2%, then the difference can be attributed to :

 
a) inflation



b) an increase in productivity

c) a decline in aggregate demand

d) a decrease in the price level 

4- The Expenditures Approach to measuring GDP consists of summing measured spending by 

a) government transfer payments

b) Firms and household members

c) Household consumers, business investors, and foreign buyers

d) Households, business sector, and federal government

5- If consumer price index(CPI) was 112.5 in 1994 and 114.8 in 1995, then the inflation rate was:

a) 2.3% 
b) 2.0%

c) 0.8%   
d) 14.8%

6- The total amount of goods and services produced within the borders of a nation’s economy in a given year is:

       a)  Gross National product 

b) Gross Domestic product 

c)  Net National product 

d)  Real Gross Domestic product

Answer the following questions by using the information bellow

Expenditure and income statement of U.S. economy (1995 data in trillions of dollars)

Consumption (C)                                                       $4.94

Gross investment (I)                                                    1.06

Depreciation                                                                0.82

Net indirect business taxes                                          0.61

Compensation of employees                                       4.22

Proprietor’s income                                                     0.48

Corporate profits                                                          0.59

Net interest income 



0.41

Rental income




0.13

Government purchases (G)    


1.36

Net exports( X-M) 



-0.11

Net earnings of American resources abroad 

-0.01

7- By using the expenditure approach, GDP is

a) $7.25

b) $15

c) $2

d) $20

8- By using income approach, GDP is 

a) $7.25

b) $10

c) $25

d) $1

9-  Based on the information above, Net domestic product is

a) 5.63 trillion dollars

b) 6.43 trillion dollars

c) 4.30 trillion dollars

d) 7.50 trillion dollars     

10- When Gross investment exceeds depreciation, then 

a) productive capacity of the economy is shrinking and production possibilities curve shifts inward

b) productive capacity of the economy is expanding and production possibilities curve shifts outward

c) productive capacity of the economy is not changing at all

d) neither of the above

Consider the following table for an economy that produces only two goods

1993

1993

1998

1998             

Commodity
price

quantity

price 

quantity

Pizza

$5

10

$8

13

T-shirts

  6

 8

 10                         15

11- Assuming 1993 as base year , Nominal Gross domestic Product(NGDP) for 1993 and 1998 is 

a) $98 and $254 respectively

b) $98 and $ 154 respectively

c) $100 and $216 respectively 

d) neither of the above

12- Again assuming 1993 as  a base year, the real GDP for 1993 and 1998 is 

a) $ 100 and $200 respectively

b) $98 and $254 respectively

c) $98 and $ 155 respectively

d) the same; $98 and $98

13- The difference between consumer price index and GDP price deflator is that Consumer Price Index(CPI)

a) reflects only durable goods while GDP price index reflects only non durable goods

b) reflects consumer goods purchased by typical urban consumers, while GDP price deflator reflects the whole economic activity of a particular country

c) reflects only farmers’ output and GDP price deflator is not relevant to any

d)  reflects only services and GDP price deflator reflects High tech products  

14- The distinction between recession and depression is that recessions are 

a) longer that depressions

b) more severe than depressions 

c) accompanied by price increases; depressions by price decreases

d) shorter and less severe than depressions

15- Labor force participation rate 

a) is the proportion of working age persons( non-institutionalized) who are in the labor force

b) is the proportion of population in the nation

c) is the proportion of employed individuals in the nation

d) is the percentage of unemployed individuals

16- Structural unemployment is an example of 

a) environmental change

b) technological change when certain skills become unneeded

c) geographical distribution of jobs

d) both b and c are correct

17- Consider an economy made up of 80 people, 40 of whom hold jobs , 10 of whom are looking for work but could not get a job, and 18 of whom are full time students.  The number of people in the labor force is 

a) 60

b) 40

c) 80

d) 50

18- According to the problem above, the unemployment rate is:

a) 10%

b) 15%

c) 20%

d) 30%

19- Balance of payments account includes :

a) Current account, capital account, and unilateral transfer payments

b) Current account, commercial account and capital account

c) Current account, capital account, and official reserves

d) Current account and capital account

20- U.S economic and military aid to foreign countries can be 

a)  Considered as part of the unilateral transfer payments given by U.S.

b) considered the balance of services coming into a country

c) considered the balance of a government bonds bought and sold by residents of the country

d) considered the balance of official transfers within the economy

21- If the government finances budget deficit by borrowing money from the public then this action will have an impact on trade deficit

a) by appreciating the value of the dollar and therefore increasing the value imports

b) by depreciating the value of the dollar and therefore increasing the value of exports

c) by appreciating the value of the dollar and thus increasing the value of exports

d) by decreasing the capital inflow 

22- If the US-Japanese exchange rate went from 110 yen/ $to 120 yen/ $, then 

a) the yen appreciated

b) the dollar appreciated

c) U.S. goods will be cheaper to Japanese residents

d) Japanese goods will be more expensive to Americans

e) The dollar depreciated

23- A nation can finance a deficit on its current account with

a) a surplus on its capital account

b) a deficit on its capital account 

c) official purchases of foreign currencies with its own currency

d) purchases of gold from foreign countries with its own currency 

24- Economic growth can be portrayed as a:

a) rightward shift of the production possibilities curve

b) leftward shift of the production possibilities curve

c) movement from a point on to a point inside a production possibilities curve

d) movement from one point to another point on a production possibilities curve

25- Which of the following contributes to economic growth?

a) technological progress

b) well-defined property rights

c) human capital investment

d) all of the above

TRUE AND FALSE QUESTIONS

26- Because of imperfect information in the  labor market, there will always be some frictional unemployment 

27- The largest percentage share of the expenditure approach is spent by households

28- During periods of correctly anticipated inflation, debtors gain at the expense of creditors

29- Gross investment consists of fixed investment and changes in inventories

30- Both final and intermediate goods are counted when measuring GDP

